
Big Idea of the Day--Saving & Investment in the National Economy

I.
The Role of Government

     A.
Government saving is part of total saving.

     B. Two accounting identities show how the government adds to (or subtracts from) private saving. First, GDP = C + I + G and, second, GDP = C + S + T. Hence I = S + T – G.


1. If net taxes exceed government purchases, T > G, the government has a budget surplus and government saving is positive; if net taxes are less than government purchases, T < G, the government budget is in deficit and government saving is negative.

     C. Government saving is part of total saving. Hence the direct effect of a government budget deficit reduces total saving. 


1. When total saving decreases, the real interest rate rises and the equilibrium quantity of investment decreases.


2. The crowding-out effect occurs when a government budget deficit raises the real interest rate and decreases investment.

     D. A government budget deficit also has an indirect effect that offsets the direct effect.


1. The Barro-Ricardo effect suggests that private saving rises one-to-one with a government budget deficit because households realize that a government budget deficit implies higher taxes in the future.


2. The Barro-Ricardo effect concludes that a government budget deficit has no effect on the real interest rate and hence does not decrease the quantity of investment.

     E. In reality, private saving offsets some but not all of a budget deficit, so some crowding out occurs.

     F. Over the past decade, as a fraction of GDP, the U.S. government budget deficit peaked in 1992, then decreased and in recent years has changed to a government budget surplus. The government budgets of other industrial nations peaked in 1992 and have trended downward since then.

II. Saving and Investment in the National Economy
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     A. The world real interest rate determines the quantity of a nation’s saving and investment.

     B. If, at the world real interest rate, the quantity of a nation’s investment exceeds that of its saving, the country borrows from the rest of the world. Figure 27.4 illustrates this case. In Figure 27.4, the nation borrows $0.5 trillion from the rest of the world.


1. When a nation borrows from the rest of the world, its net export balance is negative; that is, the nation imports more than it exports.

     C.
If, at the world real interest, the quantity of a nation’s investment is less than the quantity of its saving, the nation loans to the rest of the world and has a net exports surplus.

     D. An increase in the government deficit decreases the nation’s total saving and increases international borrowing. 

     E. U.S. net exports have been negative for the past twenty years because national saving has been less than investment. 


1. The government budget deficit in past years has helped decrease national saving and hence contributed to international borrowing.


2. Because it is the world real interest rate that determines investment, the U.S. government budget deficit has a smaller crowding-out effect than popularly believed.

